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allowed tt nalary f.f l?r,0 p,.,. ,n„ntl,. ,\t tl... .mi.I .,f ir, n„mtl.H tJic WM.ks
Htund «s follow

: M.lsiv iM.iiglit, ?r.,'.»UO
; Snl«>s, !*7.;t<M) ; |!,.„t |,ai.l f..r

12 mos.
;
Siiliuy paid in full

; Kxi>f>iiH.'.s puid. Si-JO(»
; A.-ronnis l;.M-..iv..l.l..

|47fl; Jlills U.-rei v.il. !..,>!•_•
I -); Account-< I'uyul.l.., stMt

; C'a>li paid to tl,.-

fatliiT, *;K)(». Find the nisli on liaii.l, flu- profit or lo-s imd tin- pn-soiit
at4itP of llio hnsincsM (Mdsc on Hand, .*.'..'it hi.)

(24) Kxplain fully the ni<>tli<M| of d.alinj,' « ith Invpntoiics wli.-n makinir
up the stutem.-ntM and cloHin>,' the I^dp-r. NVhv aiv tli.-v l..MU-l,t U'low
the ruling wh.-n cloMng the L.'.lg.T, and why aio 1o.sm'h an<l Irains not
treatod in a sitniliir manner 1

(25) Explain fully what items <.f intoro^t or discount will «pfK<ar on
each side of the Inter.-st and Dis.ount A<-<-ount. II<av woui<l you d.-al
with Interest amounts due, either l,y you or to you. when elosing tlio
Ledger? Why is it neces.sary to eonxider these amounts at all I

(26) (a) A is admitted as an erpial partiu-r with vou l>v payinj; into
the business ,«2,0(H» cash. Y<.ur present cajiiiid is lhl,8t'0.

Give the Journal Kntry to adjust.

(b) A and 15 are equHl j>artners. H was erroneously charvfed
with 8.')0 that he had spent on the hu-iness of the (inn.
Give the Journal Entry to adjust, using the partner
accounts only.

(27) Give cross-entries to correct the frdlow ing mistakes :

(a) You paid a note of 8;?ftO and interest due 81«. By mistake
you debited liills IJeceivahle lor the whole amount

(*) By agreement you prepay for Jno. Jones fieight on all gfKxls
purcha.sed from you. |5y misl.ike one item for .*2.') was
pas.sed through the freight account instead of Jones' account.

(28) Explain how the following mistakes would atiect (I) the Protit or
IjtSH and (2) the IJalance Hheet:

(n) The mistakes referred to in Questif»n 27.
(b) A cash .sale of .«I00 was posted to a personal account instead

of to the mdse. account.
(c) A sum of .«3() p,iid for freight was posted to the debit side of a

personal account.

(20) How would you jjrovide for the following in making up you
yearly statements

:

('/) Depreciation of machinery, plant, fi.xtures, etc.

('*) Wages unpaid,
(c) Interest accrued.
(if) Reserve for bad o'- doubtful debts.
{'') All other inventories.

(30) Jas. King of Toronto owes vou .«.')00, <lue in (".(» davs from the
present date. You owe H. P. Eckarilt A-. ('.. r,f Ton>!ito ,«;?r)(i, ,iue in
30 days from date. How can you settle y<.ur debt to U. P. Eekardt A-
Co. by drawing cm Kint'? Explain fully and give all the neces,sary
Journal Entries in you.- own books to adjust the matter.


